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__through this.

What ic the quection
acking gou?

L DONT KNOW

(et talk
WHERE TO START!

" How do books ’

horma//y g‘tart? TRANSITION WORDS!

- A (First Therefore, Second,
- - ' B 7 hus, However, Althougt) [




ACTIVITY:

"Desyrdie Ao bmicasheouydaidgastdéear
Boin gtbum d fggreted ccgnifitishoecht.”
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~ Cite Evidence

— CAN BECOME RA.C.E.(C.E)(C.E.)S.



How is X proven? In conclusion...
— Kicproven. My @ Therefore..

 The avthor doss this by... . This evidence proves/chows...
—According to thic quote...

For example...

~ For instance...

—Acit cays inthefextr—
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[EACHERS WANT. .5

- Proper quotes/citations




The response provides a The response provides relevant | The response follows
clear, complete, and and specific information from the RACES strategy
accurate answer the passage

f The response provides a The response provides some The response
! partial answer to the task information from the passage somewhat follows the
| and may include inaccuracies RACES strategy

The response provides a

The response provides little or no | The response does not
minimal answer to the task

information from the passage & follow the RACES

includes inaccuracies. strategy

The response is totally

The response contains
incorrect or irrelevant

insufficient information to
demonstrate comprehension

The response
contains no clear
Structure

CRO GRADE: 9/9=3 8/9=3

79=2 6/9=2 5/9=2 4/9=] 3/9=1 <3/9=0
RADE: 10/10 = COMPLETE EFFORT 8/10 = MOSTLY EFFORT 6/10 = SOME
EFFORT 4/10 = VERY LITTLE EFFORT 0/10 = NO EFFORT
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